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repeated. In case of any such defect replace it immediately.

. The Invigilator shall supply you the blank OMR Answer Sheet
separately.- Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on the Answer Sheet at the
appropriate space carefully by black/blue ball point pen only. You
must write the name, date and center of examination and put your
full signature in the appropriate space provided therein before
answering any question. ;

.A machine will read the coded information furnished by you in the
OMR Answer Sheet. If the information so furnished by you are
incomplete or different from what you have given in the application
form, you shall be awarded Zero marks.

.Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question by using
Black/Blue ball point pen only. Answers not shown by properly
darkening in black/blue ball point pen, no marks shall be awarded.

-No Rough work should be done on the OMR Answer Sheet. Space
for rough work has been provided in the Question Booklet itself.

. Correcting fluid, eraser, blade, books, textual material, scripts,
notes/loose paper, calculator, docupen, slide rules, log tables,
electronic watches, smart watch, cell phone, pager, other

electrical/electronic devices etc. are not allowed inside the
examination hall. In case the candidate is found in possession of
any of the above, he/she shall be disqualified from the examination

without any enquiry whether the same was/were used by the

candidate or not.

. These instructions must be complied with fully, failing which your
Answer Sheet shall not be evaluated and Zero marks will be
awarded.

8.Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room shall make you liable for penal
action. _

9.Failure to comply with any of the above instructions shall be
considered as adopting unfair means and action as deemed proper
shall be taken.
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Part-I | P-I-EOGK-JCJA-18

—_—

ENGLISH LANGUAGE
SECTION-A : 20 Marks

Instructions : Each question under this section carries two marks. Please read the instructions

carefully and answer the
eachas A, B, C and D.

il WO Yoz i S e
(Fill in the blanks

questions by selecting the right one out of the multiple answers given below

horden yeui it e passed your examination.

with alternatives given bxelow)_

A) worked, have
B) had worked, had

C) had worked, will have

D) had worked, would have

2. Beforewe........

(Fill in the blanks

edoUrimeal, e seeas us back to work.

with alternatives given below)

A) finished, had ordered
B) have finished, ordered

- O) had finished, had ordered
D) had finished, ordered

L RSN Y Catelcange Ll i -... long distance without water.

(Select correct articles and fill in the blanks if required.)

A) the, a
B) A, the
C) A a

D) None of the above

o oS e e S boole last mliall e oo book is very useful.
(Select correct articles and fill in the blanks if required.)
A) the, a B) the, the
: C) a, the D) a, a
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4 A

O R , when my friend ............. . (Choose the correct pair of verbs to complete
" the sentence) ‘

A) left, had arrived

B) had left, arrived

C) left, arrive

D) had left , was arriving

B D o bt ot e you lose. (Choose the appropriate nouns)
A) Heads, tail ' B) Head,tails
C) Heads, tails D) Head, tail
7. He is indebted. ............... his friend ............ a large sum. (Choose appropriate
prepositions) '
A) to, for : B) for, te
C) by, for By el to |
8. Icouldnot ............. what he hinted at, but ............. my mind to help him. (Choose

the correct phrasal verb pairs)
A) make in, made for

B) make out, made up

C) make for, made of

D) made out, made in

9. Jyotiis working ................ a farm, and her mother is working ............ a bank.

(Choose the correct pair of prepositions)

| AY A : B) on,in
C) imjen D) on, on
10. The promise that we ................ shall be faithfully ...........

(Fill in the blanks with alternatives given below).
A) made, to be kept-

B) had made, keep

C) have made, kept

D) are making, kept
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ENGLISH LANGUAGE
SECTION-B : 15 Marks

Instructions : Each question under this section carries one mark. Please read the instructions
carefully and answer the questions by selecting the right one out of the multiple answers given below
eachas A, B, C and D.

14

12.

13.

14.

155

16.

17.

Anyone can do it easily. (Choose the correct one in passive voice)
A) It can be done by easily anyone. B) It can be easily done by anyone.
C) Tt can be done €asily by anyone. D) Can it be done easily by anyone?

He is a ‘novice’ in the trade. (Choose the correct meaning of the underlined word)

~A) Expert B) New C) Experienced D) Old

The box is too heavy to be lifted. (Remove too from the sentence and find the correct one
from the choices given)

A) The box is very heavy to be lifted.

B) The box is very very heavy to lift.

C) The box is so heavy that it cannot be lifted.
D) The box is very heavy that it cannot be lifted.

Very few cities in India are as rich as Mumbai. (Change into comparative and find the
new sentence from the choices given) ,

A) Mumbai is richer than other ci%y in India.

B) Mumbai is richer than most other cities in India.
C) Mumbai is as rich as other cities in India.

D) Mumbeai is the richest city in India.

What does Penultimate mean ? (Choose the correct one)

A) The last one B) Lastbutone C) Middle one D) First one

What is the meaning of ‘Run down’ in the following sentence ?
He runs me down everywhere.

A) Praise B) Criticizes C) Discuss D) Run away

What does a ‘teetotaller’ mean ?
A) A person who never smokes . B) A person who never takes tea

C) A person who never drinks D) A person who never laughs
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18.

18.

20.

21.

22.

23.

24,

25.

A
He cannot be trusted with important secret informations otherwise T would have
made him my assistant. (Spot the error in a part of the sentence)
A) He cannot be trusted
B) with important secret informations
C) otherwise I would have ‘

D) made him my assistant

Being a rainy day, I decided to stop work, stay at home and enjoy a movie.
(Spot the error in a part of the sentence)

A) Being a rainy day B) Idecided to stop work

C) Stay athome D) And enjoy a movie

He said, “I saw her the day before yesterday”. (Choose the correct one in indirect speech.)'
A) He said that he saw her the day before yesterday.

B) He said that he had seen her two days before.

C) He said that he had seen her one day before yesterday.

D) He said that he has seen her two days before yesterday.

Mrs. Sudha Murty is a versatile genius and also known for her acts of ‘Philanthropy’.
What does Philanthropy mean ? '

A) Philosophy B): (Charity ~ & C) Honesty D) Spen'dthrift

What is the singular form of ‘data’ ? :
A) Data 'B) Datum C) Dat D) None of these

Many acts of ‘homicide’ are ref)orted in the city. (Pick up the word/words that is/are a
synonym of homicide.)

A) Death : B) Suicide

C) An attempt to murder D) Killing of a person by another

A person who always believes that good things will happen. (Give one word substitute
for this sentence)

A) Misogynist B) Op timist C) Philanthropist D) Pessimist
When winter comes, can spring be .............. (Complete the popular pro-verb)
A) much behind B) more behind

C) far behind : D) waiting behind
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ENGLISH LANGUAGE
SECTION-C : 15 Marks

Instructions : Each question under this section carries three marks. Please read the passage carefully
and answer the questions by selecting the right one out of the multiple answers given below each as
A5B € anid D.

The law in many parts of the world increasingly restricts the discharge of agricultural
slurry into water courses. The simplest and often the most economically sound practice
returns the material to the land as semisolid manure or as sprayed slurry. This dilutes its
concentration in the environment to what might have occurred in a more primitive and
sustainable type of agriculture and converts pollutant into fertilizer. Soil microorganisms
decompose the organic components of sewage and slurry and most of the mineral nutrients
become available to be absorbed again by the vegetation.

The excess input of nutrients, both nitrogen and phosphorus — based, from agricultural
runoff (and human sewage) has caused many ‘healthy” oligotrophic lakes (low nutrient
concentrations, low plant productivity with abundant water weeds, and clear water) to
change to eutrophic condition where, high nutrient inputs lead to high phytoplankton
productivity (sometimes dominated by bloom- forming toxic species). This makes the water
turbid, eliminates large plants and, in the worst situations, leads to anoxia and fish kills; so
called cultural eutrophication. Thus, important ecosystem services are lost, including the
provisioning service of wild-caught fish and the cultural services with recreation.

The process of cultural eutrophication of lakes has been understood for some time. But
only recently did scientists notice huge ‘dead zones ‘in the oceans near river outlets,
particularly those draining large catchment areas such as the Mississippi in North America
and the Yangtze in China. The nutrient-enriched water flows through streams, rivers and
lakes, and eventually to the estuary and ocean where the ecologlcal impact may be huge,
killing virtually all invertebrates and fish in areas up to 70,000 km? in extent. More than
150 sea areas worldwide are now regularly starved of oxygen as a result of decomposition of
algal blooms, fuelled particularly by nitrogen from agricultural runoff of fertilizers and
sewage from large cities. Oceanic dead zones are typically associated with industrialized
‘nations and usually lie off countries that subsidize their agriculture, encouraging farmers to
increase productivity and use more fertilizer.

26. The passage refers to the conversion of ”pollutant to fertilizer”. What is pollutant and
~ what s fertilizer in this context ?

. A) Decomposed organic component of slurry is pollutant and mlcroorgamsms in soil
constitute fertilizer. s

B) Discharged agricultural slurry is pollutant and decomposed slurry in soil is
fertilizer. : ;

C) Sprayed slurry is pollutant and watercourse is fertilizer.

D) None of the above expressions is correct in this context.
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27. According to the passage, what are the effects of indiscriminate use of fertilizers %
I. Addition of pollutants to the soil and water.
II. Destruction of decomposer micro-organisms in soil.
[l Nutrient enrichment of water bodies. :
IV. Creation of algal blooms.
Select the correct answer from the codes given below :
A) I, IIand III only B) [ IIIand IV only
C) Iand IV only D) I II, Il and IV

28. What is/are characteristics of a water body with cultural eutrophication ?
I. Loss of ecosystem services |
I Loss of flora and fauna
III. Lossof mineral nutrients
Select the correct using the code given below :
A) Tonly S e B) IandIIonly
C) HandIMonly ; D) I, 1T and III

29. What is the central theme of this passage ?
A) Appropriate legislation is essential to protect the environment.
B) Modern agriculture is responsible for the destruction of environment.
C) Improper waste disposal from agriculture can destroy the aquatic ecosystefns.
D) Use of chemical fertilizers is undesirable in agriculture.

30. According to the passage, why should the discharge of agricultural slurry into water-
courses be restricted ?

I. Losing nutrients in this way is not a good practice economically.

II. Watercourses do not contain the microorganisms that can decompose organic
components of agricultural slurry

III. The discharge may lead to the eutrophication of water bodies.
Select the correct answer using the codes given below :

A) T onlyd _ B) IIand Il only

C) IandIII only D) I, IIand I
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ODIA LANGUAGE
SECTION-A : 10 Marks

Feaslant : IF QofRI0e 960IR g4a 908 @eQ AR 91 AIe Q@8 | &g AYe aAPeeedy a9,
QA2RI6Q 9eF Ie° O G6R GRS g4 AIEa 209 20 Fda 993 |

J2la1 69999 An6 RG6Q 96 KQE 62T &IF 6Q6R e ZKIFIS AQ F9Q GIR0! 691R #2629
Q1@ | 9291 31 F6IIAEIQ TIQ 62F6Q | NAG AT QTG FAVFR 6Q46R ENRA°HYI ULSHFFAR ALLIER
A28MIE | 968 ERAIRAHYI QREIQl 6Q6R 6068 JI9oR ANG @TIQIEA NTE | AR 6QAFLR YT’
6U6GIRG QIFl QRIR FIRCIAIQ 998 AEG QHelal SEF 994 2RIS ATER & JAEE AYER GIFI AT 2SS
360991 202 @88 | QI8 6RIaR!, CAESIN AGIITA UAAE AR Q6% | 2AIRQ FIUGE 69 AAB
a9i9 oF G06a 6965IR , 962 gRIL 98 BGER 6RIRMI B GI U6 ... B T6Q RE AAQ 64 2AR
2OIENS | I5IGER ABIFFR AFNIG BRIFIFIET A6 FI6Q K6 @ AITER IR AR I GATR 6T
668 6291 G62IR | 615 ATAGINT UA CIWTR CARA F6HTR @ TSR AR 166 9 QIAN @ gI9Ge
QeQ 6919 62RDRIA TR AAREQ AFF @R 2SS |

a0 G604 Gl J8ARS 699 AR0l 53 890 969 | I AULER EAINES F6RINIS 6208 , IRIM G
FRRICeFa AR 267 8 JOIR @8 A Q1@ | Qo K6 FRIQICE @E YOI KQ6Q,
(219a¢ QIR6a 9Ral Sie Q8] QFI @T6Q | YA 2SI AAR 6066 99 QeI 62 IS 903 94 | Q2
62QE, 2128 g ARIQR! AINFIER B 26T LTS | - :

Jele1a G997, 97, RIS 2AYRQ AR 98C 62983 | 60Q ST 2R AP UG 69E AFIEQ @R
QRHIRIR FaR A& G A20Q AIF G A9 ALl 4R ad A cIa erg 986 @ QlRgd | AU
QRICIER 2R YEUETIC 621R AILIE | KR6I 12AQ el 8 AFI6R, 6T AT |9W 986 62299l @2l
oIa (9g g4 - AR QI | 2AR JIE A96A 6 IEAR AFHI AR ¢ AN QR |

AR QUEA Q% QIReQl 3L 698 QA RQ3 Q@ 12 | $0Q IR 90 IR RIS FAUTER FRAIER Q‘i@@
QoI @2 CURFIAE 6926Q QIEG , 6T @l QJ@@ | Qallq 6T ?JI%QQI ARG 6@ 646
29 QEAIRE 12 | W69 2lgal FAQ AHA6Q 6Q716R 2 QEARE RIT| VEFR 2l UG AHR6Q
64¢16R QQ@QI%%{ QBN 6O RS | @Q@GQ aBe AdQ QQ&I%{@ UM @@ F6IQQ QIS
ALEARE | 90@8 QU9 62R2Ql 9291 2R AGAQ @|AEAISLICN 62IR @ QIR 2SI Q*él@ N4ag
AR ¥Rl Q9 @QAAIEQR! | ARG AL 6Qlel g6 9R0Idm@ 2o gels did Q12 | 2l6eaRaI G @‘88“
J6Qi@ J2Qlq JCRIAQ A {°D @l aQ &g 2YER ARL | AU 68191@ 2l6Q QL@ €622 A6
4°A FAEARI T 2LIIQ FIRR 62N U6R F1d QRATAIR 6Q4 age 2D @ 2@ AR 6Q1 9G©
@A FA6Q QPKD_G?IQ QGGQIGHGI Q@I Qgem |

31. Qo9 YAYHIFG] AAGER ARIAS ATAQ UQS! @6l 2
A) N2l egal B) Y2IQI1gQ
C) Q499 YmIRel D) QAR 968 ARAQ
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32. gI90@ AAQ GF B §F F6UAQ JRUQ V¢ 6QIR 581419 AIEE Qelg F8S AIQAIR QAR ?
A) NEl 9F0QR |
B) Y210 G@g 92
C) 89Q 618 R

D) 99l 999 Qa3

33. 970Q Q8eal @4 ?
A) 299 - 6@@@
C) &g D) 996
34. 4B aweq 69 (188 99e Q6% QLG ? @ QRIS KBR ?
A) Q896
B) 63R16@
C) FARIee

‘D) 99 9QQ9d 99

35.  QIGTI B ARY @R FRQ J9IE QIR &Y 2SS G6% AILR ?
A) 95T B AN Q1A 8 9aQ
B) ‘919 Qe 26m 986 @ @@QG@I@@Q
C) 991979 AQRIQ YIS @46Q '

D) Q9a ed, ag @2l §&el aIn
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ODIA LANGUAGE
SECTION-B : 5 Marks

QGQQIQ% % QOTQIGQ g6oye gea ade Q9Q AR 9@ AIF Q@8 | 969]!@ R°AR1T Ql@%l@@ ae
ALRNER dLQP IQ° QI O6R QZIIQI@ZIQI QY 6L2 RV AR QGQI@Q- QIYdIeR QQ@ QIG?‘{G' ada

Q03 |
36.

37.

38.

39.

40.

Banks have played an important role to shape the financial structure of the nation

after its nationalization in 1969.

A) 19696Q @I@M@Qél d6Q, QI 9o 27 6949 2UCFER Q1% G108 *QQI6Q IS g@@gﬁ;
@ﬂ@l aale aaed|

B) 196969 QIG19.008 969, QUie goe 2If 699x 2d10q IR slgaqg; QIBIEQ - RRIRR!
*Aae |
C) QIPINRAE U6Q 1969 6Q 2IF 6a9R 2UF10F IR JATE KA8E |

D) 1969 Q KIS19298, IS FI8T Jeaad 2189169 gdisl gaIe 08|
It is a matter of satisfaction that almost everybody now-a- da}}s has a bank account.
A) N2l 63T VA 69 2T Y9 YERIATR IR QUi HISI 28]

B) Yl ‘cﬂ@@ﬂﬁl 69 G ANLF QUIw WIS 2R | )

Q) 92 QLINIRQIER 64 2IF ATLFA QIS ISl AT

D) Y9 QRINRVIEQ 64 AALTR QYIeT %‘H@I 28|

Very few people of India know about the cost of printing notes and the period the
notes remain in c1rculahon
A) QUAGA IS 9F1 ERIN T FAIRIER 626F FIP G4 B 67IF q@@ 6R6G GR UQ Yoo A6,
69 QEIN6Q RIS
B) @099 Qg@ Q7 ERIR 6AEE CF QYA I B 6RIC oK 6R6E T U YR 6L, 6
AQREQ RIEE|

O) QSR AL A1 6AR SF1 89 FAR 99 B 6AGER 660G AR 96R, 64 FTACR FISIE |

D) QU069 67163 69 Gl BAIER 6060 SIS G4 6 92! 6860 TR QI6R, 697 Ga6a FIGE RI2]

The Union Finance Ministry has proposed amalgamation of Banks.

A) 695 22 2199 AIF Foea F5da 98I ages |

B) 69 28 a1 iF geea fg¢ @aad|

C) 6a9 2 2199 IF Joq Q1A JG0IRR 16Q 2Rge QARIq QIFaa |

D) 69% 22 (a1 QUIF goq 90 FARIg 99Ie AHea |

This may enhance the efficiency of the Banks.

A) N2l Qiiw gORa QIdY QN0 IRIR AIBAI B) N2l QYT gERR QI @9S! SAIR QIS
C) 2l QUIw goaa QB6caIGiel eRIR Q16| D) 42l Qe gO@a AI QIR A6 |
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ODIA LANGUAGE
SECTION-C : 20 Marks

Bedaian : 18 QAdaign g69Ie 999 A0 AeQ AIRl IR AI 9FF | 1 FAISER YAUAINYS! gq9ee
JQ ALRI6Q 9RF IQ° 96046 Q@ QI6RIT QR AUQ Q0R Q@9s Gda @ag |

41, YRENCQE? _
A) oI B) 4olQ C) 9oa D) 651636 g6%

42. 69199 QY L8 ?

A) 20 94 2IR6A 2R 63IRAIe FEE QaG!

B) 69126 glk Y9 QORI

C) 69197 99 G Qo

D) 6919% QI Gda Qo
43. QE0I6Q SRR QI AR @€ QLN ?

A) 9T - B) ©QaQl Q) 0Q0ae - D) 9009
44, “Qdy Q@0 6291 UG FEAI" 92 69Q QIR 6RS ?

A) Q0% B) edlde C) &R ; D) 691636 @68
45. Qs Ql8, 6969 R4 | U2 QIRIQ 69T6R I §IT 66Q 990 GO ?

A) @91 - B) cadsqiemie  C) 98eaa D) Q9990
46. CAUQ — 6QR AT ING 2R 62IRT |

A) 90 Q8 B) Q@6 al C) Qa4 B D) @ldas af
47. QIIRIG ROl 32 | QI 699 I0B ? |

A) @1l "~ B) g C) asen D) asl
48. 9990 620 2 998 | 99 99 699 UG ? |

- A) SedIgl B) Qo C) aya D) @9l 6834

49. CRHRIN 21l ? '

A) QI9I QLGN B) QI2l 2I6Q) @Qgeelid

C) 28g4Id D) 68636 96w
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50.
51.
52.

53.
54.

55.
56.
57.

58.

. 99,

60.
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A) 6Q9Q8 B) <g91@ C) eduIag D) @9
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A) gaigel B) @iz C) Qg D) 999
‘AT Q [ 90T g2l ?
A) 29eS B) 996 . C) aqA°eG D) 9914
‘R4 A6M QIZ, 2GR CI6A A% /| 2 606 RIAQ 2ATNG 2
A) Q9 © B) ea@ C) aig ey D) 9@
AR Y4 Q90 G2 | QI 699 FI0R 7
A) FAFNS B) @0deI0e C) 2Yeadeae D) Qe
CIFQ IEQYIZ SR | ‘CBQYIT’ Q &g 94 ?
-~ A) 9Y B) 4& C) @9 D) Qqig
Al 92Ig *36m — AIFea NP @ UG AT | ‘ARG’ @ 29 @&
A) Qg ' B) & C) Q@ : D) 6098 601@
‘FQl 90Q 212l 6aH? _ .
A) agel B) deoda C) FTeqa D) 641635 gee
NQ 6RI6RIE AT, 990 RIFS 9T | ¥R 2] @4l ?
A) 2gdeaaia | ' B) §9%I
C) 208ge ' D) 6x163G qes
0% RS QIRY FRIQ 696 AT g8 §96 @Q ?
A) a@"aa@ 2YY QG 2L | ~ B) 49 Q96Q A9dI6R 16816068 AGRE |
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14 , A
Part-11
GENERAL KNOWLEGDE
SECTION-A : 80 Marks

Instructions : Each question under this section carries two marks. Please read the questions carefully
and answer the questions by selecting the right one out of the multiple answers given below each as A,
B, Candil), :

61. Consider the following statements about the establishment of the Indian National
Congress (INC) :
(1) The INC was established during the tenure of Lord Dufferin.
(2) The aim of INC was to promote national unity among the nationalist leaders.

(3) Another objective of the INC establishment was to organise a mass movement
against economic exploitation at the hands of the British.

Which of the statements given above is/ are correct ?

A) lonly © B) 1land2only C) 2and3only D) 1,2and3

62. With reference to the Mughals in India, which of the following was/were the
reason(s) for the decline of the Mughal Empire 7
(1) The Mughal armies were organised more or less on feudal lines where soldiers
owed allegiance to their immediate feudal lord. '

(2) Prolonged wars of Aurangzeb against the Marathas in Deccan led to a paucity of
resources.

(3) The Jagirdari crisis which led to a competition among jagirdars for receiving the
jagirs. '
(4) War of succession due to absence of the law of primogeniture.
Select the correct answer using the code given below :
A) 1and2only - ; B) 2and 4 only
O 12 and % only : D) 1,2,3and 4

63. Consider the following statements regarding corals :
1. They are mainly found in tropical oceans and seas.
2. Most fishes lay eggs in coral colonies. .
3. Coral reefs have greater biodiversity than tropical rainforests.
Which of the statements given above is/are correct ?
A) 1and 2 only , B) 1and 3 only
) 2ol R : D) 1,2 and’3
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64. With reference to tropical and terhperate- forests, consider the followihg statements :

1. Tropical Forests consists of very hlgh tree species as compared to temperate
forests.

2. Temperate forests have a thm canopy of trees whereas tropical forests have a

thick canopy.
Which of the statements given above is/are correct ?
A) 1only St SaB) . 2only
C). - Both'l and 2 D) Neither 1 nor 2.

65. With reference to Cdmpressed Natural Gas (CNG), consider the following
statements : S :

1. It is a mixture of hydrocarbons consisting of approximately 80 to 90 percent
methane in gaseous form.

2. ltislead-free and lighter than air.

Which of the statements given above is/are correct ?

A) 1only B2 only

C) Both1and2 : D). Neither 1 nor 2

66. Consider the following statements :
1. Coal gas is a mixture of methane, carbon monoxide and hydrogen.
2. Cokeis a coal-derived product which burns without smoke.
Which of the statements given above is/are éorfect Sl
A) 1only : B) 2only
€ Bothil and 2 0 D) Neither 1 nor 2

67. Which of the following are adaptive features in plants to minimize the loss of water ?
1. Presence of thick cuticle on the leaf surface.
2. Absence of leaves in some plants.
‘3. Arrangement of stomata in deep pits.
Select the correct answer using the code given below :
A) land2only i B) 2and 3 only
C) 1and3only. el 2and 3
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68.

69.

70.

s

Which of the following statements regarding the Ozone layer is not eorreet ?

A)
B)
&
D)

Ozone layer is the product of UV radiations acting on dioxygen molecules.

Ozone layer is thermodynamlcally unstable and decomposes into molecular
oxygen. ' :

The main reason for Ozone layer depletion is the release of Freons.

Depletion of ozone layer (i.e.Ozone hole) was first reported inN orth Pole.

Consider the following pollutants :

1. Carbon Monoxide (CO)

2. Oxides of nitrogen (NOX) |

3. Suspended I’articulate Matter (SPM)

4. Unburnt hydrocarbons

Which of the pollutants grven above are released from vehicular emissions ?
A) 1,2 and 3 only B) 2and 3 only

C) 1land 4 only . D)4, 2.3 and 4

Consider the following statements regarding the harmful effects of water pollutants :

ik,
2.
3:

Fluoride causes erosion of bones and teeth.

Lead is associated with liver and kidney damage.

Blue-baby syndrome is associated with potassium contamination.

Which of the statements given above are correct ?

A)
&)

1 and 2 only , B) 2and 3 only
1 and 3 only : By T, 24nd 3

With reference to GDP deflator, consider the following statements :

L

24

It is the ratio of GDP measured at current prices to GDP measured at constant
prices.

It automatically reflects the changes ‘in consumption pattern and structural
transformations in the economy.

Which of the statements given above is/are correct ?

A)
C)

1 only : B) 2only
Both 17and 2 D) Neither 1 nor 2
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74.

75.
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Which of the following is an appropriate description of disinflation ?

A) It is a slowdown in the rate of increase of the general price level of goods and
services.

B) Itis a sudden fall in the value of a currency against other currencies.
C) Itisa persistent fall in the general price level of goods and services.

D) Itis a steep increase in the price level of export items.

With reference to Cash Reserve Ratio (CRR), consider the following statements :

1. CRRis the percentage of dep051ts Wthh a bank must keep with itself in the form
~of any liquid asset.

2. Higher the CRR requirement, lower will be the credit creation in the economy.
Which of the statements given above is/are correct ?

A) 1only : B) 2only

C) Both 1 and 2 D) Neither 1 nor 2

Which of the following was/were the outcomes of the Bretton Woods Conference
held in 1944 ? i :
1. Setting up of International Monetary Fund (IMF) and the World Bank.

2‘. Setting up of World Trade Organisétion.

3. Establishment of international gold exchange standard.

Select the correct answer using the code given below :

‘ A) 1only : : ~,B) i1 and 2 only.

C) 1and3only | D) 2and 3 only

With reference to Special Economic Zones, consider the following statements :

1. It refers to a specially demarcated territory with tax holidays and exemptions
from duties for export and import. v

2. A major objective of setting up a SEZ is to attract Forelgn Direct Investment and
earn foreign exchange.

Which of the statements given above is/are correct ?
A) lonly B) - 2 only
Z).«Both.1 and 2 - © D) Neither 1 nor 2
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76.

77.

78.

- T

A
Consider the'following statements with respect to Mahatma Gandhi National Rural
Employment Guarantee Act, 2005 :
1. Only rural Below Poverty Line families are eligible for the benefits under the Act.

2Tt promiées 200 days of guaranteed wage employment to every adult member in
rural areas.

3. It provides for the voluntary unskilled manual wage works.
Which of the statements given above is/are correct ?

A) 3only ‘ B) 2and 3 only

C) 1and 3 only D) 1,2and3

Consider the following statements regarding the Repo Rate :
1. Repo is an instrument with RBI for borrowing funds only on an overnight basis.

2. Both government and corporate sector securities can be used for borrowing under
repo rate. '

3. Increase in the repo rate will increase the liquidity in the market.

Which of the statements given above is/are correct ?

" A) land?2 only ( B) 2only

C) 1only D) 1,2and 3

With reference to electricity production in India, érrange the following in decreasing
order of their contribution to power generation capacity.

1. Thermal power

2. Hydel power |

3. Nuclear power

Select the correct answer using the code given below :
A) 1-3-2 Biolois MER oS D) 2-3-1

Consider the following statements with respect to inflation :

- 1. It decreases the purchasing power capacity of a currency.

2. It benefits both the bondholders and debtors.

- Which of the statements gii/en above is/are correct ?

A) 1only B) 2only C) Bothland2 D) Neither 1 nor2
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80. Consider the following statements :
1. For the formation of dew, it isvnecessary that the air temperature is above or equal
to the freezing point. oL A
2. For the formation of frost, air temperature must be at or below the freezing point.
Which of the statements given above is/are correct? '
A) 1only B) 2only C) Bothland2 = D) Neither 1 nor2

81. With reference to the distribution of water on Earth, consider the following
statements : '
1. Major percentage of water on earth's surface is freshwater.
2. Major percentage of freshwater is trapped in glaciers and polar ice caps.
3. Moisture in soil holds more water than available in rivers and streams.
Which of the statements given above is/are correct ?
A) 1only B) 2and3only C) 3only . D) 1land3only

82. Consider the following statements : ;
1. The Pole Star always indicates the north direction.
2. Jupiter, Saturn, Uranus and Neptune all have rings around them.
3. Meteoroids are found between Mars and Jupiter.
Which of the statements given above is/are incorrect ?
. A) land2only B) 2and3only C) 3only D) 1,2and 3

83. Consider the following statements :
1. Isthmus is a narrow passage of water connecting two large water bodies.
2. Strait is a narrow strip of land joining two land masses.
Which of the statements given above is/are correct ? ;
" A) lonly B2 el C) Bothland2 D) Neither 1 nor2

84. Which of the following pairs are correctly matched ?
Shifting Cultivation : Region B
1. Milpa : Brazil
2. Roca : Mexico
3. Ladang : Malaysia
4. Jhumming : India
below : : ’
A) 1,2and3only B) 3and4only C) land4only D) 1,2,3and4
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A

85. Which of the following can be considered as sources of information about the interior

86.

87.

of the earth ?
1.  Metamorphic rocks

2. Volcanic Lava

3. Meteors

4. Magnetic field

5. Gravity

Select the correct answer using the code given below :

A) 1,2 and 3 only

B) 2,3,4and5 only

C) 2,3and 4 6h1y :

D) All of the above

With reference to “Tropical cyclones’, consider the following statements : .

1. They originate over warm tropical oceans.

2, i lhey are associated with heavy rainfall and storm surges.

o They are not found at latitudes above 20 degrees.

Which of the statements given above is/are correct ?
A) 1and 2 only ; B) 1and 3 only
C) 2and 3 only » By 1., 2 and 3

Consider the following statements :

1. Rice grows best in alluvial clayey soil.

2. Millets are coarse grains that can be grown on less fertile and sandy soils.

3. Cotton requires 210 frost free days and bright sunshine for its growth.
Which of the statements given above is/are correct ? '

A) land 2 only

B) 1,2and 3

C) 2and 3 only

D) 1and 3 only
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88. Which of the following factors cause the variability of Insolation on the surface of the
Earth ?

The Revolution of earth

i

2. The angle of inclination of the sun’s rays

3. The length of the day

4. The transparency of the atmosphere

5. The distribution of land

Sclect the correct answer using the code given below 3

A) 1,2and 3 only = B) 1,3and4only
C) 2,3,4and5 only D) All of the above

89. Which of the following is/are the types of ’Equalitjr’ is mentioned in the Preamble of
Indian Constitution ?
1.; “Social
2. Economic.
3. DPolitical
4. Status
5. Opportunity
Select the correct answer using the code given below :
A) 1,2 and 3 only : B) 1,3 and 5 only
C) 4and5only D) 1,2,3and 4 only |
90. With respect to post-independence history of India, Arrange the following events in
chronological order :
1. Panchsheel agreement between India and China.
2. India’s first nuclear explosion. :
3. Nuclear Non-proliferation Treaty signed between permanent members of the
UNSC.
4. First Chinese invasion in Arunachal Pradesh.
Shimla agreement between India and Pakistan.
Select the correct answer using the code given below :
AR T P Byl 4L 5.5
@ E P R B : : B 54 =547
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. 91,

92,

Which of the following Fundamental Rights are available only to citizens and not to

foreigners ?

(1) Prohibition of discrimination on grounds of religion, race, caste, sex or place of

birth.
(2) Equality before the law and equal protection of the laws.
3) Protection of language, script and culture of minorities.
(4) Protection against arrest and detention in certain cases.
Select the correct answer using the code given below :
A) 1and 4 only
Byl and 3 oply
C) 2and 4 only

D) 1,2 and 3 only

Which of the following is/are the discretionary powers of the President ?

(1) Appointment of the Prime Minister when no political party has a majority in the

Lok Sabha.
(2) Exercise of the pocket veto.
(3) Power of promulgating an ordinance.
Select th’e correct answer using the code given below :

A) 1only

B) 2and 3 only

C) -1and 2 only

D) 1,2and 3
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93. Consider the following statements regarding the second test match between India
and Bangladesh played recently.

a) It was a day and night match.

(a)
(b) It was played with a red ball.

(c) Ishant Sharma bagged the maximum number of wickets.
(d) Virat Kohli scored a century.

Which of the above statements are correct ?

A) (a), (b) and (c)

B) (a), (b) and (d)

C)- (a), (¢)and (d)

D) (b), (c) and (d)

94. Match each of the books in Column-A with their authors in Column-B and select the
correct answer set from the table given below.

Column-A : Column-B
(a) Confessions ~i.  Adam Smith
~ (b) Gathering Storm ii. Adolph Hitler
(¢) Mein Kamph S J.J. Rousseau
‘(d) Motherss v iv. Karl Marx
(e) Wealth of Nations bv. Maxim Gorki
vi. Winston Churchill
Answers :
A) (a)-iii (b)-vi (-1 (d) -iv- (e)-Vv
B): )~k o) =i A= di ok e )i
G Bttt o re (@)
D) (a)—iv (b)-iii (c¢)-ii (d) -v (‘e.)—i

P-I-EOGK-JCJA-18 - . . Rl
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95.

96.

97.

A

Match each of the Jyotirlingas in Column-A with their locations in Column-B and
select the correct answer set from the table given below. ;

Column-A Column-B
(a) Baidyanath i. . Deoghar
(b) Ghrushneswar il ‘Ellora
(c) Mahakaleswar iii. Mandhata
(d) Mallikarjuna iv. Nasik
(e) Triymbakeswar v. Shrisailam
' LT

Answers :
A. (a)-i (by~ w5 (@ -1 & d) =117 (e} -iv |
B. (a)-vi (b)-iii ' (¢)~i (d) -v (e)-iv
C..a)-i (b)-ii - (¢)-vi (d) -v (e)-iv
D. (@)-iv (b)-ii (¢)-vi (d)-v (e)-iii
Consider the following statements :
(1) The Union Council of Ministers exercises the real executive poWer of the Union.
(2) The executive powér of the Union is vested in the Prime Minister of India.

Which of the statements given above is/are correct ?

‘ A) lonly ; : B) 2only

C) Both1land?2 D) Neither 1 nor 2

With reference to Bal Gangadhar Tilak, consider the following statements :

(1) He started journals like the Kesari and Mahratta to spread nationalism amongst
the Indians.

(2) He started public celebration of the Ganpati and Shivaji festivals.
Which of the statements given above is/are correct ? ‘
A) 1only | , B) 2only

C) Both1and?2 D) Neither 1 nor 2

P-I-EOGK-JCJA-18
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Consider the following pairs :

Newspapér : Editor

1. The Bengalee : W.C. Banerjee

2. Mirat-ul-Akbar : Raja Ram Mohan Roy

3. Voice of India : Dadabhai Naoroji -

4. Mahratta : Bal Gangadhér Tilak

Which of the pairs given above are correctly matched ?

A)-1, 2and 3only % B) 2,3and 4 only

C) 1,3 and 4 only D). 12,3 and 4

Consider the following statements with reference to the Brahmo Samaj :

(1) Raja Ram Mohan Roy formed the Brahmo Samaj in 1828.

- (2) The Brahmo Samaj does not believe in the authority of the Vedas.

100.

(3) The Brahmo Samaj was influenced by Islam and Christianity.
Which of the statements given above is/are éorrect ? .

A) 1and 2 only B) 2and 3 oniy

C) 3only S D) 1,2and 3

Consider the following statements regarding the social reformer Dayanand

Saraswati :

(1) He founded Arya Samaj for crusading against the evils‘present in the Hindu

‘religion.
(2) Dayaynand’s views were published in ‘Satyarth Prakash”.

(3) The Samaj started the shuddhi (purification) movement to reconvert to Hindu
- fold the converts to Christianity and Islam.

Which of the statements given above are correct g
A) 1and 2 only : B) 2and 3 only
C) land3only B, 2 and 3.
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GENERAL KNOWLEDGE
SECTION-B : 20 Marks

Instructions : Each question under this section carries one mark. Please read the questions carefully
and answer the questions by selecting the right one out of the multiple answers given below each as
A, B, Cand D. S

101.

102.

103.

Which of the following part of electromagnetic spectrum of sunlight is/are
responsible for heating of solar cooker and solar water heater ?

1.  Infrared waves

2 IVEA wravies

3. UV-Bwaves

4. UV-C waves

Select the correct answer using the codes given below :

A) lonly h B) 1and2only
@) 2and 3 only D) 2,3 and 4 only

Which of the following is/are the characteristic features of 'legal tender' in India ?
1. Ttisa medium of payment recognized by law.

2. It has its own intrinsic value. ;

3. Alllegal tenders are issued by the Reserve Bank of India.

Select the correct answer using the code given below :

A) 1lonly : B) 3only

C) 1and 3 only D) 1,2and3

In India, Know Your Customer (KYC) verifications are mandatory for which of the
following sectors ?

1. Banking

2. Equity Trading

3. Pension

4. Insurance services -

Select the correct answer using the code given below :

A) 1,2 and 3 only ! B) 3 and 4 only

C) 1land?2only 2ol 20 Saind 4
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104.  Which of the following mountain ranges separates Asia from Europe ?

A) Andes B) Urals ChRocky ™ .« - D) Aflas

105. Consider the following statements :

1. All the Parallels/Latitudes on the Earth are of the same length and have equal
distance between them, whereas' the length of the Longitude and distance
between them decreases towards Pole.

2. Latitudes are used to classify heat zone of the Earth whereas Longitudes are used
to measure Time.

Which of the statements givén above is/are correct ?
A) 1only

B) 2only

C) Both1and?2

D) Neither 1 nor 2

106. Breeding of fish in specially constructed tanks and ponds is known as ?
A) Piscicul’ture
B) Horticulture
C) Viticulture

D) Sericulture

107. Which one of the following is not a characteristic of minerals ?
A) They are created by natural processes.
B) They have a definite chemical composition.
C) Their distribution is uneven.

- D) They are all metallic in nature.

108. Consider the following statements :
1. The majority of the world’s volcanoes are situated in the ‘Ring of Fire’.
2. The ‘Ring of Fire’ is situated only in the North Pacific Ocean.
Which of the statements given above is/are correct ? "
A) 1only : B) .2 ohly
C) Both1and 2 : e D) Neither 1 nor 2
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109.

110.

111,

112.

A
Consider the following statements regarding Startup India’s Academia Alliance

Programme :

1. It is a mentorship opportunity between academic scholars and incubators to
promote the spirit of entrepreneurship in the country.

2. The applications for Startup Academia Alliance were hosted on the Sta-rtup‘India .
Hub. : :

Which of the statements given above is/are correct ?
A) 1only

B) 2only

C) Both1and?2

D) Neither 1 nor 2

Which river has its origin from Gonasika hill ?
A) Mahanadi B) Baitarni
C) Devi D) Brahmani

With reference to the National Anthem of India, consider the following statements :

(1) It was first sung in December 1911 at the Calcutta session of the Indian National
Congress.

(2) The Constituent Assembly adopted it on 24th January 1950.
Which of the statements given above is/are correct ?

A) 1only |

B) 2only

C) Both1and?2

D) Neither 1 nor 2

Which of the following writs is issued by the court to a public official asking him to
perform the official duties that he has failed or refused to perform ?

A) Prohibition
B) Certiorari
C) Quo-Warranto
D) Mandamus
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113. The Pres1dent is elected not directly by the people but by members of the electoral
college consisting of :
(1) The elected members of both the Houses of Parliament.
(2) The elected members of the legislative assemblies of the States.
(3) The elected members of the legislative assemblies of Delhi and Puducherry.
Which of the statements given above is/are correct ?
A) 1only B) 1and2only
C) 2and 3 only D) 1,2and 3

114. Consider the following statements regarding a No—Cdnfidence Motion in India :

(1) It can be moved against an individual minister or a group of ministers or the
entire Council of Ministers. :

(2) A Motion of No-Confidence can be introduced in the Lok Sabha only.
Which of the statements given above is/are correct ?
A) 1only B) 2only
C) Both1land?2 D) Neither 1 nor 2
115. In the absence of the Speaker of Lok Sabha, who among the following presides over a
joint sitting of the two Houses ?
A) Chairman of the Rajya Sabha
B) Deputy Speaker of the Lok Sabha
C) Deputy Chairman of the Rajya Sabha

D) Union Parliamentary Affairs Minister

116. Which of the following were the reasons for the 1857 Revolt ?
(1) The Docfrine of Lapse
(2) Introduction of the rule of law
(3) General Services Enlistment Act
(4) Religious Disabilities Act
Select the correct answer using the code given below :
A) 1and 2 only : B) 3 and4only
C) 1,3 and 4 only , D) 1,2,3and 4
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117.

118.

119.

120.

Consider the following pairs : Puppet form : State

1. Kathputli: Maharashtra ‘

2. Kandhei : Orissa

3. Pavakoothu : Tamil Nadu

Which of the pairs given above is/are correctly matched ?
A) 2only B) 1and 2 only
C) 2and 3 only D) 1and 3 only

Which of the following hills in Odisha is not a Buddhist site ?
A) Dhauligiri B) Khandagiri
C) Lalitagiri D) Ratnagiri

Consider the following sources :

1. Cosmicrays

2. Nuclear Fuels in atomic reactors

3.© X-ray waste .

Which of the sources given above cause Radioactive pollution ?
A) 1and 2 only B) 1and 3 only

C) 2and 3 only ; D) | 1,2and 3

Which of the following type of living organisms are not invertebrates ?
A) Crustaceans B) Molluscs
C) Insects ‘ D) Reptiles
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